AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box) FEDERAL CANDIDATE	STATE/LOCAL CANDIDATE
E FEDERAL CANDIDATE	A STATE/LOCAL CANDIDATE

To Avail Themselves of The Lowest Unit Charge During a Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location:	Date:
KAAO + KCOW Alliance, NE	10/19/18
I, Clint Taylor	,
being/on behalf of: MUSELF	, a legally
qualified candidate of the Republican	political
party for the office of: <u>Hyannis School Board</u>	
in the General Election	
election to be held on: November Lath, 2018	
do hereby request station time as follows:	

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
:30	5A-12A	10 days	KAAQ KAAQ	Varies	3 weeks

Total Charges: ¼Ψω.∞	
그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그	

For programming that, in whole or in panational importance," list the matters be		ating to any political matter of
I represent that the payment for the abo	ve described broadcast time has b	peen furnished by:
The committee Sup	porting Clint Taylor	r for School Board
and you are authorized to announce the I represent that this person or entity is excommittee/organization of the legally quantities.	time as paid for by such person o ther a legally qualified candidate	r entity.
The name of the treasurer of the candida	ate's authorized committee is:	
Jeanne Gentry		
This station has disclosed to me its polit and discount, promotional and other sale		
THIS STATION DOES NOT DISCR OF RACE OR ETHNICITY IN THE		
of Rice of Elimion in the		
To Be Signed By Car	ndidate or Authorize	d Committee
Date	Signature	
To Be Signed I	By Station Represent	tative
Accepted	☐ Accepted in Part	Rejected
Signature	Olivia Hoseraner Printed Name	General Manager

Date: 10/22/18



Stations:	KAAQ-FM, KCO	W-AM	******		Buyer:							
Contract Name:	TG 10222018 TA	YLOR FOR SE	3	.,	Tax Schedule:		(None)					
Contract#:			31150	7591	Agency Commis	sion %: 0						
Start Date:	10/24/18	End Date:	11/	06/18	Billing Cycle:	Calendar						
Revenue Type:	Political Direct		Type:	Cash	Salesperson:	5156obro	Comm %:	0				
						y: Within Contract Dates						
Address:	40689 HANEY L	ANE										
City:	WHITMAN	State: NE Zip:	6	9366								
Phone:	(308) 544-6285											
Product Name:	POLITICAL ADV	ERTISING										
Competitive Coo	de: Political Candid	ate										

KAAQ-FM

	DATES Alt		TIMES				DISTRIBUTION								RATE	TO	OTALS	PTY	
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	
1	10/24/18	10/28/18		5:00 AM	12:00 AM	30			5		5	5		15	D	4.00	15	60.00	4
2	10/29/18	11/04/18		5:00 AM	12:00 AM	30		5	5	5	5	5		25	D	4.00	25	100.00	4
3	11/05/18	11/05/18		5:00 AM	12:00 AM	30	5							5	D	4.00	5	20.00	4
4	11/06/18	11/06/18		5:00 AM	5:00 PM	30		5						5	D	4.00	5	20.00	4

TOTAL GROSS \$200.00, NET \$200.00

KCOW-AM

DATES		ΓES	Alt	TIM	MES		DISTRIBUTION									RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	T	W	T	F	SA	SU	Per Wk	D/W	IVAIL	SPOTS	\$\$	
1	10/24/18	10/28/18		5:00 AM	12:00 AM	30			5		5	5		15	D	4.00	15	60.00	4
2	10/29/18	11/04/18		5:00 AM	12:00 AM	30		5	5	5	5	5		25	D	4.00	25	100.00	4
3	11/05/18	11/05/18		5:00 AM	12:00 AM	30	5							5	D	4.00	5	20.00	4
4	11/06/18	11/06/18		5:00 AM	5:00 PM	30		5						5	D	4.00	5	20.00	4

TOTAL GROSS \$200.00, NET \$200.00

Billing Projections: By Month

Oct 18 Nov 18 200.00 200.00 CA 280.00 120.00 ST

Date: 10/22/18

V Print Spot Prices	TOTAL	SPOTS		100
	GROSS	400	0.00	
	ADJUS ⁻	TED SPOTS		100
	ADJUS ⁻	TED TOTAL	104	0.00
	APPRO	VE DECLI	NE	
	\bigcirc	\bigcirc	General Manager	
	\bigcirc	\bigcirc	Sales Manager	
	\bigcirc	\bigcirc	National Sales Manager	
	\bigcirc	\bigcirc	Local Sales Manager	